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OSO = (On/Sn. n- \ ) * 60 days 

OSO = (04/S4, 3) * 60 days 
OSO = (0411 .700 ,000 + 1JOO.000) * 60 = 60 days 

. .<, lWll>: r..)~ ...r .J 

0 4= (3.000,000 * 60)/60 = 3,000,000 L.S 
.0~ y..1 .) ~.wl wl.l.....:Jl F. ~ \:u. 

=04 y..1..,! ~~Iyl t4JI 
( 1,700.000 + \ ,300. 00+ 1,000,000 I -00,000) - },OOO.OOO= 1.5 00,000 

os = (On/Sn n- J, n-2) * 1)0 days 

o 0 = (04/S4, 3,2) * 90 = 60 days 
OSO = (04/1.700.000 + 1JOO,OOO + 1,000,000) * 90 = 60 days 
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0 4= (4,000,000 * 60) 190 = 2.666.666,67 L. .., 
. \......,.u • I ...! 4..i...w\ w l>\.....J1 ~ I. • •.1. \:u..r..) .. .?..r" . c-:- .r 



=. \.......U ' i . ~'-...U.I J I ~ ' ..11 
J .. .y~..? .r.. . 

(1,700,000 + 1,300,000+ 1,000,000+500,000) - 2,666,666.67= 1,833 333.33 
o~I~\ J!J 
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1,300,000 >I< (30 /3 1) = 1 ,258,064. ~2 L.S = ..;I~1 ~ i.J.<l l..J:! LJ:+j)G w~ 
:0~ ~ y..i ~ ~..J.J I w\.:L....:JI ~ 0fo. .)lil\.:.J 

1,700.000 + 1.258,064.5 2 0= 2.958.064.52 L.S 
...;I~j 0-" .l:.,IJ r~.J.b~ ..:.J.....,l+"J I~WI 0YlS w~~ 01~0~~~ w~llJ\-9 .)Lil4J 

1,300.000-1.258 ,064 .52= 41,935.48 = ..;I ~i 0" .l:.,IJ r Y. w~ 
= ' W ;·J~4j'· ·;, · ' l w~I · · .c:: , lLiluU .. ~ ~.. . Uy-":: 'oF' ..J 

500,000 T 1.000,000 +4 1,935.48 = 1.541.935.48 L.S 
: .\)\ Jl j....J\ 

10,000,000 *4%= 400,000 

200,000 

400,000 ..200,000=200,000 

10,000,000 - 00.000= 9,800,000 

9,800,000*3%=294,000 

9,800,000-294.000=9,5 06,000 

(200,000+294,000)/9.506,000= 5.1 97% 

0. 05197* 12=62.36% 

(Ul:l..)\.c. w~\ c}L::. 
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V=(cr)2 = (5,000)2 = 25,000,000 

y = d 3*1,000"25 ,000.000 = 41 570.66 
4 0 ,000261 I 

Lx= 3y= 3*41,570.66= 124,71 1.98 

'[ = 4/3Y = 4 ' 41,570.66/3 = 55A27.S5 

o~ 15,000 oJJ! ~Jlj~~4~o~\ w i ~.;it 
(w\"")\.c. ~)) ~.iilll Ji..'l l ~ji=J 1 

Y= d 3"1,000,, _5 ,000,000 + 15,000 = 56,570.66 
4.0,000261 

Lx= 3y-2z= 3(56,570.66)-(2* 15,000)= 139.711.98 
(w\..a)k. 6)lJ);iJ~I .h.... j:.t. 

L = 4Y + z/3 = 4 .. 56}570,66 + 15/00013 = 80A27.55 
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